W [ Whole numbers ]

Name Class Date

Write a number that) > Means is greater than 3,276 > 3,270

is two greater than < means is less than 5,380 < 5,390

or two less than the | The symbol always points to the smaller number.
given number.
Look at the symbol

carefully!
5,100 < 3,845 < 2,079 < 1,630 <
> 4,500 > 2,948 > 6,201 > 8,428
7,952 < 9,753 > 6,839 < 5,204 >
> 1,037 < 4,865 2,000 > 3,667 <
4 S === == se= N

PREVIEW

Please Sign In or Sigh Up to download
the printable version of this worksheet

1,000 + 500 + 30 100 + 8,000 + 7

300 + 5 + 9,000 3 + 2,000 + 90

Write number sentences to show how many thousands, hundreds, tens and
ones are in each number.

1,852=_000+_ 00+ _ O+ __  4786=
7,624 = 6,537 =
2,905 = 9,218 =
3,170 = 5,391 =
7,890 = 1,045 =
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5100 < 5102
4502 > 4,500

7,952 < 7954
1039 > 1,037

8,005 >

8003

Whole numbers ]

ANSWER KEY

Write a number that )
is two greater thqn < means IS |ESS than 5,380 < 5,390

or two less than the | The symbol always points to the smaller number.
given number.

Look at the symbol

carefully!

> means is greater than 3,276 > 3,270

3,845 < 3847 = 2,079 < 2081 1,630 < __ 1632
2950 >2948 6203 >e6201 8430 > 8428

9,753 > 9751 6,839 < _6841 5,204 > 5202

4863 <4865 2000>_ 1998 3667<_ 3665

6,828 > 06826 4903 <4905 3998 < 4.000

Please Sign In or Sigh Up to download
the printable version of this worksheet
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Write number sentences to show how many thousands, hundreds, tens and
ones are in each number.

1,852 = 1000 + 800+ 50+ 2 4,786 =_4000+700+80+6
7,624 = 7000+600+20+4 6,537 = 6000+500+30+7
2,905 = 2000+900+5 9,218 = 9000+200+10+8
3,170 = 3000+100+70 5,391 = 5000+300+90+1

1,000 + 500 + 30 8 1 O [ | 100 + 8,000 + 7

300 + 5 + 9,000 21019 |3 | 3+ 2000 + 9

7,890 = /000+800+90 1,045 = 1000+40+5
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